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10000 0000:Lx=4000mm;Ly=3000mm O :

h=100mm20 000 O0D00O0OO:C25fc=11.9N/mm2 ft=1.27N/mmz2 ftk=1.78N/mm?2
Ec=2.80x 104N/mm?2

000 O:HRB335 fy =300 N/mm2 Es = 2.0x 105 N/mm2
Jododd:p=02000p0000000000000O0:as

=20mmUO 0000 :c=10mm

3.0000@0D00)0000D00000:y G=

12000 0000000:y Q=14000000000:¢q=1.0000000000:qgk=
5.000kN/m2 0 0 0O 0O 0O 0O O : qgk = 3.000kN/m2
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6.0000 0000000y 0o=100000:u =0.200
Joodoon:1000bdd:Lo=3000mm2.00000000O0:

ho = h-as=100-20=80 mm

000 000 (Ix/ly=4000/3000=1.333<2.000

oooooooag):

IXO0O0OOO1)OOXo0OoOoOO Mx=

0000y G*qgk+y Q*qgk)*Lo2 = (0.0317+0.0620*0.200)*(1.200*5.000+1.400*3.000)*32

=4.048 KN*m



000000 as=y o*Mx/(a 1*c*b*ho*ho) =1.00%4.048x 106/(1.00%11.9¥1000*80*80) = 0.053
HOOO0000000E =1-sqri(l-2*a s) =1-sqrt(1-2*0.053) = 0.055
H00000000 As=a 1*c*b*ho*E /fy =1.000%11.9%1000*80*0.055/300 = 173mm2

550000000 p =As/(b*h) = 173/(1000%100) =0.173% p <p min=0.200%0 00000000
0000 O00As=p min*b*h =0.200%*1000%100 =200 mm2 0 0 O O d8@200, 0 0 O O 251 mm20
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